Frequency of Light Word Problems
1. The frequency of a wave is 1.5 Hz, with a wavelength of 3.5 cm.  What is the speed? 

v = f * λ  
v = f * λ  

f = 1.5 Hz (cycles/second)
v = 1.5cycles/sec * 3.5cm


λ = 3.5cm
v = 5.25cm/sec

v = ?

Therefore, the speed is 5.25cm/sec.

2. The speed of a sound is 300 m/s.  If its frequency is 350 Hz, what is the wavelength? 

v = f * λ  
v = f * λ  

v = 300m/s
λ = v/f


f = 350Hz (cycles/second)
λ = (300m/s)/(350Hz)


λ = ?
λ = 0.857m

Therefore, the wavelength is 0.857m. 
3. The period of a wavelength is measured to be 10 seconds.  What is the frequency of the wave? 
f = 1/T
f = 1/T

f = ? 
f = 1/10 seconds

T = 10 seconds
f= 0.1Hz (cycles/second)

Therefore, the frequency of the wave is 0.1Hz.

4. If the distance between successive crests is 0.1 cm, and the period of the wavelength is 0.3 seconds, what is the speed of the wave? 

v = f * λ  
f = 1/T
v = f * λ  
v = ?
f = 1/0.3sec
v = 3.33Hz*0.1cm
f = 1/T
f = 3.33Hz
v = 0.33cm/sec
λ = 0.1cm

T = 0.3seconds


Therefore, the speed is 0.33cm/sec












